

FOOD TO GO Boxes, bowls & trays



Great to go.

WE'VE GOT YOUR PACKAGING COVERED

Daily routines and consumer behaviours have changed, particularly the ordering, collection or delivery and consumption of meals and drinks. This has led to the introduction of new and evolving service models.

Packaging is instrumental in delivering the latest menus, drinks and treats to consumers. The functionality of the packaging is vital to enable excellent service as well as maintaining the all important quality of the food within.

Great to Go is our comprehensive range of fiber based, sustainable food and drink packaging. All the products in the Great to Go range have been carefully chosen to present a variety of solutions which are made from renewable materials, sustainably sourced paper board and paper board with little or no plastic content using predominantly PFAS free materials.

The natural Kraft look of our ranges mean that our products work well together and compliments any foodservice environment





Full of new features.

REASONS YOU'LL LOVE IT

Taste to go boxes are dual ovenable and the innovative design means heat and moisture are retained, making them perfect for serving a variety of food.

PACKED FULL OF PERFORMANCE

Use for hot and cold foods, main meals or snacks, fried food or those with a sauce like curry and rice.

A new probe hole allows you to check your food temperature without opening the pack.

Dual ovenable up to 220°C for 30 minutes and microwaveable, so the food can be cooked or re-heated in the pack.

Extensively tested for use in a hot cabinet. Up to 4 hours at 85°C - 90°C.

Taste now caters for both dry and wet foods with the addition of new improved push in vents ideal for fried foods.



Recyclable and in-line with OPRL guidelines with under 10% plastic content. Made from papers from sustainably managed forestry sources.

Webbed design prevents leaks. Suitable for dishes with wet sauces or cooked in oil.

FOOD TO GO

With the prevalence of ready to eat hot takeaway or delivered meals, paired with the increasing diverse product offering, this category is thriving. The market is seeing new channels, delivery services and hot food concessions being introduced to extend reach and accessibility to consumers.

Hot food packaging has never been so important to deliver quality, freshness and convenience right to the hands of the consumer.

GREAT TASTE

Our insulated Taste hot food to go boxes are available with or without windows. We have enhanced the design to give you the best performance, improving both the functionality and heat retention.

Taste innovative design means that heat and moisture are retained, which is perfect for serving curries, chillis and rice. When delivering foods that you want to stay crisp or dry, Taste hot food boxes work for that too. The perfect versatile hot food packaging range.



FLUTED CARTON BOXES WITH PET LINING

BOXES WITH WINDOW



50000990 (EU-HBCP0004)

Food to go Box mit Fenster, klein

Fluted board







Food to go Box mit Fenster, medium

Fluted board

PET lining PET lining 20,55 g 17,5 g 80 x 125 x 60 mm 125 x 125 x 60 mm 650ml 950ml Qty per case 360 Qty per case 270 8 cases/pallet 8 cases/pallet 2880 qty/pallet 2160 qty/pallet

50000621 (EU-HBCP0006)

mit Fenster, groß Fluted board

Food to go Box

PET lining 29 g 185 x 125 x 60 mm 1400ml Qty per case 180 8 cases/pallet 1440 qty/pallet



BOXES WITHOUT WINDOW



50001735 (EU-HBCP0001)





50001081 (EU-HBCP0002)

Food to go Box, small

Fluted board PET lining 18,0 g 80 x 125 x 60 mm 650ml Qty per case 360 8 cases/pallet 2880 qty/pallet

Food to go Box, medium

Fluted board PET lining 24,0 g 125 x 125 x 60 mm 950ml Qty per case 270 8 cases/pallet

2160 qty/pallet



Food to go Box, big

50000654 (EU-HBCP0003)

Fluted board PET lining 31,0 g 185 x 125 x 60 mm 1400ml Qty per case 180 8 cases/pallet 1440 qty/pallet



ORIENTAL BOX



HBCP0017

NEW Large Taste oriental hot box

Fluted board PET lining 55 x 121 x 89.8mm 650ml Qty per case 360 8 cases/pallet 2880 qty/pallet



CARTON BOARD BOXES WITH GREASE RESISTANT LINING

MENU BOXES



Medium Menu Box (straight)

HFSD016

Carton board Grease resistant lining 180 x 105 x 70mm 1200ml

Qty per case 500 40 cases/pallet 20,000 qty/pallet



HFSD008

Large Menu Box 1 (straight)

Carton board Grease resistant lining 227 x 125 x 78.5mm 1850ml Qty per case 350 36 cases/pallet 12,600 qty/pallet



HFSD004

Small Menu Box (tilted)

Carton board Grease resistant lining Grease resistant lining 208 x 130 x 60mm 900ml Qty per case 200 30 cases/pallet

6000 qty/pallet

Large Menu Box (tilted) Carton board

HFSD005

260 x 130 x 56mm 1200ml Qty per case 200 30 cases/pallet 6000 qty/pallet





50001024 (HBCP0019)

FOOD TO GO TRAY SMALL

FOOD TO GO TRAYS

Fluted board PET lining 7,35 g 167 x 83 x 37 mm Qty per case 280 16 cases/pallet 4480 qty/pallet



50000894 (HBCP0020)

FOOD TO GO TRAY MEDIUM

Fluted board PET lining 11,45 g 125 x 125 x 50 mm Qty per case 120 25 cases/pallet 3000 qty/pallet



50001670 (HBCP0021) FOOD TO GO

Fluted board PET lining 14,45 g

TRAY LARGE

185 x 125 x 50 mm Qty per case 120 25 cases/pallet 3000 qty/pallet







ORIENTAL CARTONS



HFSD009

NEW VIP1

oriental carton

Carton board

500ml

Grease resistant lining

100 x 123 x 47mm

Qty per case 300

18 cases/pallet

5400 qty/pallet



HFSD010

NEW VIP2

oriental carton





HFSD011

Carton board Grease resistant lining 125 x 102 x 65mm 700ml 1000ml Qty per case 450 16 cases/pallet 7200 qty/pallet



NEW VIP3 oriental carton

Carton board Grease resistant lining 105 x 185 x 58mm Qty per case 300 16 cases/pallet 4800 qty/pallet

TAC Boxes





Carton board PE lining 16oz/529ml Qty per case 500 24 cases/pallet 12,000 qty/pallet

Small TAC box



TAC026I0019

Large TAC box

Carton board PE lining 26oz/800ml Qty per case 450 18 cases/pallet 8100 qty/pallet

FRIES AND SIDES CARTONS



HBCP0072

NEW Taste vented

fries & sides carton

Grease resistant lining

140 x 96.5 x 56.2mm

Qty per case 670

16,750 qty/pallet

25 cases/pallet

Fluted board





French Fries Box brown, large

HBCP0049

Cardboard Grease resistant lining

Qty per case 1.100 42 cases/pallet 46.200 qty/pallet

HBCP0049 **NEW Taste pillowpack**

[window]

Fluted board Grease resistant lining 181.5 x 97 x 59mm Qty per case 600 20 cases/pallet

12,000 qty/pallet

6

BURGER & NUGGET CLAM





HFSD003

NEW 3oz Nugget Clam

Carton board Grease resistant lining 150 x 100 x 53mm 400ml Qty per case 500 30 cases/pallet

15,000 qty/pallet

HFSD001

NEW 4oz Burger Clam

Carton board Grease resistant lining 110 x 110 x 73mm 700ml Qty per case 520 25 cases/pallet 13,000 qty/pallet



WRAP



HFSD013

NEW Burger Wrap

Paper Grease resistant lining 303 x 305mm Qty per case 3000 54 cases/pallet 162,000 qty/pallet



BURGER & MENU BOX





50001042 (HBCP0076)

Burger Box, Menübox

Wellpappe

Braun 28,9 g 117 x 116,5 mm 150 pro Karton 150 pro Stange 16 Kartons/Palette

50000181 (HBCP0075)

Burger Box, Menübox groß

Wellpappe Braun 43,9 g 234 x 116,5 mm 175 pro Karton 175 pro Stange 12 Kartons/Palette

